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7-5 

Enrollment No:-___________                                             Exam Seat No:-________ 

C.U.SHAH UNIVERSITY 
Summer-2015 

Subject Code: 2TE03SUR1         Subject Name: Surveying 

Course Name: DIPLOMA (Civil)               Date: 7/5/2015 
Semester:III         Marks: 70   
                                          Time:02:30 TO 05:30  

 ___________________________________________________________________________________
 Instructions: 

1) Attempt all Questions of both sections in same answer book/Supplementary. 
2) Use of Programmable calculator & any other electronic instrument prohibited. 
3) Instructions written on main answer book are strictly to be obeyed. 
4) Draw neat diagrams & figures (if necessary) at right places. 
5) Assume suitable & perfect data if needed. 

___________________________________________________________________________________ 

Q-1 (i) Draw contours for Hill and Ridge line. 2 

 (ii) Convert following W.C.B. in to R.B. 

(i) 218o 30’ 30”  (ii) 139o 45’ 15”  

2 

 (iii) State the types of B.M. Explain any one. 2 

 (iv) Explain fore sight and back sight. 2 

 (v) Define surveying. 1 

 (vi) Define fore bearing. 1 

 (vii) What is local attraction? 1 

 (viii) Write the R.F. of scale 1 cm = 5 m. 1 

 (ix) Define map. 1 

 (x) Define change point. 1 

  Attempt any Four  

Q-2 

 

(a) The fore bearing and back bearing of closed traverse ABCD are as under. 

LINE FB BB 

AB N 460 10’ E S 460 10’ W 

BC S 600 40’ E N 600 40’ W 

CD S 90 50’ E N 90 50’ W 

DA N 800 40’ W S 800 40’ E 

Calculate interior angles and apply usual check. 

7 

 (b) A 20m chain was found 12 cm too long after measuring a distance of 940 m. At 

the end of day’s work it was found 15 cm too long. If the distance measured is 

1600 m. Find the true distance. 

7 

Q-3 (a) Explain reciprocal ranging with neat sketch. 7 

 (b) State methods of plane table survey. Explain any one. 7 

Q-4 (a) State advantages and disadvantages of plane table survey. 5 

 (b) If the declination of a survey line is 20 E and magnetic bearing is 1340 30’ 00”. 

Find true bearing of survey line. 

5 

 (c) 1) Distinguish between prismatic compass and surveyor compass. 4 
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Q-5 (a) The following readings were taken with dumpy level. 

1.055, 1.565, 1.875, 2.755, 1.070, 1.455, 2.125, 1.165, 0.275, 1.720, 1.320, 2.505. 

Level was shifted after 4th and 8th reading. Calculate the RLs of all points by rise 

and fall method. Apply usual checks. RL of 1st point is 75 m. 

7 

 (b) State the types of theodolite and state uses of theodolite. 7 

Q-6 (a) Explain basic principles of surveying. 5 

 (b) Define the terms: (i) Bench mark, (ii) Axis of telescope, (iii) Line of sight, (iv) 

Reduced level, (v) level line. 

5 

 (c) Distinguish between: True meridian and magnetic meridian. 4 

Q-7 (a) Describe temporary adjustment of dumpy level. 7 

 (b) Define Trapezoidal and Simpson rule and state its limitations. 7 

Q-8 (a) What is orientation in plane table survey? Explain orientation procedure of plane 

table by back sighting. 

7 

 (b) Explain procedure to measure Horizontal angle with a theodolite.  7 
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Q-1 (i) V¡Lfu A“¡ ’pf “p kdp¡ÃQf¡Mp àgp“ vp¡fp¡. 2 

 (ii) “uQ¡ Ap”¡gp ”wZµh©s b¡fuN“¡ gOyh©s b¡fuNdp» a¡fhp¡¡. (i) 218o 30’ 30”  (ii) 139o 45’ 15”  2 

 (iii) sgqQù“p ”°Lpf gMp¡ A“¡ Lp¡B”Z A¡L hZƒhp¡. 2 

 (iv) AN°phgp¡L“ A“¡ ”°õhphgp¡L““y» hZƒ“ Lfp¡. 2 

 (v) kh¢L¹kZ“u ìep¿ep Ap”p¡. 1 

 (vi) AN°b¡fuN“u ìep¿ep Ap”p¡.  1 

 (vii) õ‘pq“L ApLjƒZ“u ìep¿ep Ap”p¡. 1 

 (viii) 1 k¡.du. = 5 duVf õL¡g“p q“†q”s A”wZµpL gMp¡¡. 1 

 (ix) “Lip“u ìep¿ep Ap”p¡. 1 

 (x) qvip bvg tbvy “u ìep¿ep Ap”p¡. 1 

  Lp¡B”Z Qpf gMp¡.   

Q-2 (a) A¡L b»’ dpgpf¡Mp ABCD “p» b¡fuNp¡ “uQ¡ dyÄb R¡. sp¡ A»vf“p MwZp ip¡’p¡ A“¡ Ä†fu smp¡ d¡mhp¡. 
LINE FB BB 

AB N 460 10’ E S 460 10’ W 

BC S 600 40’ E N 600 40’ W 

CD S 90 50’ E N 90 50’ W 

DA N 800 40’ W S 800 40’ E 
 

7 

 (b)  940 du. “u dp”Zu ”Ru 20 du. “u A¡L kp»Lm 12 k¡du h’y gp»bu ÄZpB lsu. qvhk“p A»s¡ s¡ 15 k¡du 
h’y gp»bu ÄZpB. Äp¡ Lyg dp”¡g A»sf 1600 du. lp¡e sp¡ kpQy» A»sf ip¡’p¡. 

7 

Q-3 (a) õhÃR ApL©qs vp¡fu ìeõs Apf¡MZ kdÄphp¡. 7 

 (b) àg¡“ V¡bg kh¢L¹kZ Lfhp“u fusp¡ gMp¡ A“¡ Lp¡B ”Z A¡L“y» hZµ“ Lfp¡. 7 

Q-4 (a) àg¡“ V¡bg kh¢L¹kZ“p apevp A“¡ N¡fapevp ÄZphp¡. 5 

 (b) Äp¡ A¡L kh¡ƒ gpB““p¡ qvL¹”psLp¡Z 2 ”wh® sfa lp¡e A“¡ Qy»bLue b¡fuN 134 30 00 lp¡e sp¡ s¡ kh¡ƒ 
gpB““u kpQu b¡fuN NZp¡. 

5 

 (c) qÓ”põhueƒ L»”pk - kh¢L¹kZ L»”pk hÃQ¡“p¡ saphs Ap”p¡. 4 

Q-5 (a) Xç”u g¡hg“u dvv‘u “uQ¡“p hp»Q“p»Lp¡ g¡hpdp Aph¡g R¡. 
1.055, 1.565, 1.875, 2.755, 1.070, 1.455, 2.125, 1.165, 0.275, 1.720, 1.320, 2.505. Qp¡‘p s‘p 
ApWdp hp»Q“p»L ”Ru g¡hg“¡ iuã¹V Lf¡g R¡. b’p» Ä tbvyAp¡“u kp”¡L¹k KQpB QYph-Dspf ”Ý’qs Üpfp 
ip¡’u, Ä†fu spmp¡ d¡mhp¡. ”°‘d tbvy“u kp”¡L¹k KQpB 75 duVf R¡. 

7 

 (b) ‘uAp¡Xp¡gpBV“p ”°Lpf ÄZphp¡ s‘p ‘uAp¡Xp¡gpBV“p D”ep¡Np¡ ÄZphp¡. 7 

Q-6 (a) kh¢L¹kZ“p ”pep“p q“edp¡ kdÄphp¡. 5 

 (b)  “uQ¡“p» ”vp¡ kdÄphp¡: sgqQù“, V¡qgõLp¡”“u ’fu, ÖqõVf¡Mp, kp”¡L¹k KQpB, kdsg f¡Mp. 5 

 (c) kpQy f¡Mp»i A“¡ Qy»bLue f¡Mp»i hÃQ¡“p¡ saphs Ap”p¡. 4 

Q-7 (a) Xç”u g¡hg“y» l»Npdu kdpep¡Ä“ hZµhp¡. 7 

 (b)  V²¡”¡Tp¡BXg A“¡ qkdk“ †g “u ìep¿ep Ap”p¡ A“¡ s¡“u depƒvp Ap¡ ÄZphp¡¡. 7 

Q-8 (a) kd”pV kh¢L¹kZdp» qvLõ‘p“ A¡Vg¡ iy»? kd”pV kh¢L¹kZdp» qvLõ‘p““u ”°õhphgp¡L““u fus kdÄphp¡. 7 

 (b) ‘uAp¡Xp¡gpBV‘u qL¹kqsÄ MwZp¡ dp”hp“u fus hZµhp¡. 7 

 


